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1) KS D 3562, SPPS38, 42

2) KS D 3563, STBH340, 410, 510

3) KS D 3566, STK 290, 400, 500, 540
4) KS D 3568, SPSR 400, 490
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ofefio] JA| 84 220 Cioll E&7|=S 0[5t =W EA| StA|2.

@
N7

ﬁ?/"alﬁﬂj_



=771 A4 438 A 24

Z21sA Al 81 3 Al 3 WAl (AEAIZE 100 8)
= e 23 e
A s
OI: 7|7:" _z._% ?i Eyp:"?IEAI' Hdi %1
®

S/

ZAEYS A4 =20 25 2mm =5t g

S







A=A

=771 AHHE8E Al

)

=]
L

AlZE: 100

|
[=]

T0 T0

A 3 Al (Al

T o
=

HE7|A7 1At

=9

A7
o M

=il Al 81 2

=
Of

714

Al 2.

HAM 71=5

5}

Yol c

SiA 7|EotAl=2.

Of| CH

Hln






71712 A4 838 A EA

At Al 81 3 A 4 1Al (AIEAIZE 100 2)

= A4 +¥ d
HAM E

OIZ 7|71I _?;_% d Eyp:"?IEAI' H.ii %:'

=
ol
_E
oE

StA|2. (225 3)

1. 04 §F?é-S-EH # Q! 2 CH240] CHoll A 2B otAI2.

o

| m

2. .2 BHE AM FYHZ Z3st7| f/eh Risk Management(9d24a2t2|)of
CHEHA] AITBHA|L.

3. U274 ZHIE EAelst=d UM 2LAEIE (Austempering)ol  CiSHO
A-1D=| |.A|2

HE (Inverter) s A0

ul
rlﬂ
/_'n\
Q
2
=
o
|H
’_'6
[
3
o
=2
ry
2
X
Ofo
o
N
J
3
=
£0
rr
re

6. Oof2f 32|Q! 80{of| Chst Ho|E HHSIAL.
1) AASZ(RATED LOAD)
2) HASHZ(HOISTING LOAD)
3) A4 = (RATED SPEED)
4) ATH(SPAN)
5) Z3(TRAVELLING)
6) 23 (TRAVERSING)



